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Regarding the compressed expression of the IPv6 address 2001:0410:0000:0001:0000:0001:0000:45FF,
which of the following is correct?

(multiple choice)

Response:

A.2001:410::1::45FF

B. 2001:410:0:1::45FF
C.2001:410:0:1:0:1:0:45FF
D.2001:41:0:1:0:1:0:45FF

Answer: C

According to the different sources, the routes in the routing table are usually divided into the following
categories?

(multiple choice)

Response:

A. Interface routing
B. Dynamic routing
C. Direct route

D. Static routing

Answer: B,C,D

Which of the following statements about optical fiber are correct?
(multiple choice)
Response:

A. When using multi-mode fiber, the maximum signal transmission distance is longer than single-mode
fiber

B. The cost of multimode fiber is lower than that of single mode fiber

C. Multimode fiber can transmit light of different wavelengths and different incident angles

D. Multimode fiber has a thinner core
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Answer: BC

On the MSR router, use the command to view the current running version of the device.
Response:

A. display current-version
B. display running

C. display software

D. display version

Answer: D

In the routing table of an MSR router, which of the following sources of routes may be included?
(multiple choice)
Response:

A. The route discovered by the dynamic routing protocol

B. The route discovered by the network layer protocol

C. Route of directly connected network segment

D. The static route manually configured by the network administrator

Answer: ACD

UDP belongs to the of the OSI reference model.
Response:

A. Transport layer

B. Presentation layer
C. Session layer

D. Network layer

Answer: A
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For the understanding of packet switching, the correct one of the following statements is

(Multiple choice)
Response:

A. Packet switching includes frame-based packet switching and cell-based packet switching

B. Each packet carries the address identification of the receiver and the sender, and the packet can be
forwarded directly without any operation, thereby improving efficiency

C. Packet switching is a switching method based on Store-and-Forward switching

D. The transmitted information is divided into packets of a certain length and forwarded in units of

packets

After turning on the debugging, you can use the
Response:

A. undo terminal monitor
B. undo terminal debugging
C. undo debugging all

D. no debugging all

Common FTP file transfer types include
(Multiple choice)
Response:

A. Local type

B. EBCDIC type

C. ASCII code type
D. Binary type

Answer: ACD

command to turn off the debugging.

Answer: C

Answer: CD
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The TFTP protocol is a protocol based on
Response:

A. UDP
B. TCP
C. IPX

D. SSH

Answer: A
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